# A Note on the Completeness of an Exponential Type Sequence<sup>\*</sup>

Jinhui FANG<sup>1</sup>

**Abstract** For any given coprime integers p and q greater than 1, in 1959, B. J. Birch proved that all sufficiently large integers can be expressed as a sum of pairwise distinct terms of the form  $p^a q^b$ . As Davenport observed, Birch's proof can be modified to show that the exponent b can be bounded in terms of p and q. In 2000, N. Hegyvari gave an effective version of this bound. The author improves this bound.

Keywords Complete sequence, Coprime, Residue 2000 MR Subject Classification 11A07, 11B13

## 1 Introduction

A positive integer set A is called complete if all sufficiently large integers can be expressed as the sum of distinct terms taken from A. Denote by  $\mathbb{N}_0$  the set of non-negative integers. In 1959, B. J. Birch [1] proved that for given integers p and q greater than 1, the set  $Y = \{p^a q^b :$  $a, b \in \mathbb{N}_0\}$  is complete if and only if (p, q) = 1, which verifies the conjecture of P. Erdős.

**Theorem 1.1** (see [1]) Given any positive coprime integers p, q greater than 1, there exists a number N(p,q) such that every n > N(p,q) is expressible as a sum of the form  $n = p^{a_1}q^{b_1} + p^{a_2}q^{b_2} + \cdots$ , where  $(a_i, b_i)$  are distinct pairs of positive integers.

As Davenport observed, Birch's proof can be modified to show that for every coprime integers p and q greater than 1, there exists an integer K = K(p,q) such that the sequence  $Y_K = \{p^a q^b : a, b \in \mathbb{N}_0, 0 \le b \le K\}$  is complete.

For such K, Erdős mentioned that, "of course the exact value of K(p,q) is not known and no doubt will be very difficult to determine". In 2000, Hegyvari [2] obtained an effective upper bound for K(p,q).

**Theorem 1.2** (see [2]) For every coprime integers p and q greater than 1, there exists an integer K = K(p,q) such that the set

$$Y_K = \{ p^a q^b : a, b \in \mathbb{N}_0, 0 \le b \le K \}$$

is complete. Furthermore, we have

$$K(p,q) \le 2p^{2c^{2^{2q^{4p+3}}}}$$

Manuscript received June 13, 2010. Revised September 29, 2010.

<sup>&</sup>lt;sup>1</sup>Department of Mathematics, Nanjing University of Information Science and Technology, Nanjing 210044, China. E-mail: fangjinhui1114@163.com

<sup>\*</sup>Project supported by the National Natural Science Foundation of China (Nos. 10771103, 11071121).

where  $c = 1152 \log_2 p \log_2 q$ .

In this paper, we improve this upper bound. The basic idea is similar to that in [2]. What is more, we add in proof a nice result of V. H. Vu on subset sums, which greatly reduces the upper bound obtained by Hegyvari. For more details, see Lemma 2.6 in Section 2.

Theorem 1.3

$$K(p,q) \le p^{c^{2^{q^{2p+3}}}},$$

where  $c = 1152 \log_2 p \log_2 q$ .

### 2 Lemmas

Before the proof of the lemmas, we introduce the following notation and definitions. Let  $\mathbb{N}$  be the set of positive integers, and  $A = \{a_1 < a_2 < \cdots < a_n < \cdots\}$  be a sequence of positive integers. Denote P(A) as

$$P(A) = \Big\{ \sum \varepsilon_i a_i : \varepsilon_i = 0 \text{ or } 1, \sum \varepsilon_i < \infty \Big\}.$$

We call (x, y) disjoint if there exist  $X, Y \subseteq \mathbb{N}, X \cap Y = \emptyset$ , such that  $x = \sum_{i \in X} a_i, y = \sum_{j \in Y} a_j$ . The sets X, Y are disjoint if for every  $x \in X, y \in Y, x$  and y are disjoint. Denote  $Z \subseteq P(A)$  as a d-set if all elements of Z are pairwise disjoint.

**Lemma 2.1** Let  $A = \{a_1 < a_2 < \cdots < a_n < \cdots\}$  be a sequence of positive integers. Assume that there exists an integer  $n_0$  such that for every  $n > n_0$ ,  $a_n < a_1 + a_2 + \cdots + a_{n-1}$ . Then P(A) has bounded gaps, i.e., if  $P(A) = \{x_1 < x_2 < \cdots\}$ , then for every k we have  $x_{k+1} - x_k \leq a_{n_0}$ .

**Proof** Assume that  $A_k = \{a_1 < a_2 < \cdots < a_k\}$  and  $P(A_k) = \{x_{k_1} < x_{k_2} < \cdots\}$ . We will take induction on k to prove that for any  $l, x_{k_{l+1}} - x_{k_l} \leq a_{n_0}$ .

If  $k \leq n_0$ , then for any l, there exists an integer  $i < n_0$ , such that  $a_1 + a_2 + \dots + a_i \leq x_{k_l} \leq a_1 + a_2 + \dots + a_i + a_{i+1}$  and  $a_1 + a_2 + \dots + a_i \leq x_{k_{l+1}} \leq a_1 + a_2 + \dots + a_i + a_{i+1}$ . Hence  $x_{k_{l+1}} - x_{k_l} \leq a_{i+1} \leq a_{n_0}$ .

Now assume that the proposition holds for  $k(\geq n_0)$ . Namely, for any  $l, x_{k_{l+1}} - x_{k_l} \leq a_{n_0}$ . Assume  $P(A_{k+1}) = \{y_1 < y_2 < \cdots\}$  for convenience. Since  $k \geq n_0$ , by the precondition of Lemma 2.1, we have  $a_{k+1} < a_1 + a_2 + \cdots + a_k$ . Let  $n_1$  be the largest number no larger than  $a_1 + a_2 + \cdots + a_k$  with the form  $a_{k+1} + \sum_{1 \leq i \leq k} \varepsilon_i a_i$ , and  $n_2$  be the least number larger than  $a_1 + a_2 + \cdots + a_k$  with the same form as above.

Then for any m, we have the following three possibilities:

**Case 1**  $y_m < y_{m+1} \le a_1 + a_2 + \dots + a_k$ . Then by the induction hypothesis, we have  $y_{m+1} - y_m \le a_{n_0}$ .

**Case 2**  $y_m = a_1 + \cdots + a_k, y_{m+1} = n_2$ . Then

$$y_{m+1} - y_m \le y_{m+1} - n_1 = n_2 - n_1.$$

By the choice of  $n_1$ ,  $n_2$  and the induction hypothesis, we have  $y_{m+1} - y_m \leq a_{n_0}$ .

**Case 3**  $n_2 \leq y_m < y_{m+1} \leq a_1 + a_2 + \dots + a_{k+1}$ . Then we assume that  $y_m = a_{k+1} + y'_m$  and  $y_{m+1} = a_{k+1} + y'_{m+1}$ . We can find that the elements  $y'_m$  and  $y'_{m+1}$  are adjacent in  $P(A_k)$ . By the induction hypothesis, we have  $y_{m+1} - y_m = y'_{m+1} - y'_m \leq a_{n_0}$ .

Collecting the above discussion, we know that for any m,  $y_{m+1} - y_m \le a_{n_0}$ . This completes the proof of Lemma 2.1.

**Lemma 2.2** Let p, q be positive integers greater than 1. Let  $Y_{2p,2} = \{p^k q^{2m} : k \ge 0, 1 \le m \le 2p\}$  and assume  $P(Y_{2p,2}) = \{x_1 < x_2 < \cdots\}$ . Then for every n, we have  $x_{n+1} - x_n < \Delta$ , where

$$\triangle \le q^{2p+2}.$$

**Proof** Assume that x is the number larger than  $q^{2p+2}$  with the form  $p^k q^{2m}$ . Then

$$\sum_{p^t q^{2s} < x} p^t q^{2s} = \sum_{s=1}^{\left[\frac{1}{2} \log_q x\right]} q^{2s} \cdot \sum_{p^t < \frac{x}{q^{2s}}} p^t = \sum_{s=1}^{\left[\frac{1}{2} \log_q x\right]} q^{2s} \cdot \frac{p^{T+1} - 1}{p - 1}$$

where  $p^T < \frac{x}{q^{2s}} \le p^{T+1}$ .

Since

$$x > q^{2p+2}$$

by direct calculation, we have

$$\sum_{p^t q^{2s} < x} p^t q^{2s} = \sum_{s=1}^{\lfloor \frac{1}{2} \log_q x \rfloor} q^{2s} \cdot \frac{p^{T+1} - 1}{p-1} \ge \sum_{s=1}^{\lfloor \frac{1}{2} \log_q x \rfloor} \frac{x - q^{2s}}{p-1} > x.$$

Hence, by Lemma 2.1, we have  $\Delta \leq q^{2p+2}$ . This completes the proof of Lemma 2.2.

**Lemma 2.3** (see [2]) Let  $c, d \ge 2$  with (c, d) = 1. Let  $x \ge d^{4A}$  and

$$Y_{A} = \{ c^{a} d^{b} : a \in N, 1 \le b \le A = [5 \log_{2} c] + 1 \}.$$

Then there exists a number n with  $1 \leq n \leq x$ , which has at least two representations  $n = \sum_{y \in Y_A} \varepsilon_y y = \sum_{y \in Y_A} \varepsilon'_y y$ , where  $\varepsilon_y, \varepsilon'_y \in \{0,1\}$  and  $\sum_{y \in Y_A} \varepsilon_y \varepsilon'_y = 0$  (i.e., the representations are disjoint).

**Lemma 2.4** (see [2]) Let p, q be integers greater than 1, (p,q) = 1 and let  $g = q^2$ . Let  $a_1 = b_1 = 1$ , and for i > 0, let

$$a_{i+1} = [24a_ib_i\log_2 g], \quad b_{i+1} = [24a_ib_i\log_2 p], \quad p_i = p^{a_i}, \quad q_i = g^{b_i},$$

and  $A_i = [5 \log_2 p_i] + 1$ . Then, for every n, there exist sets

$$U_n = \{ u_1 < u_2 < \dots < u_n \}, \quad V_n = \{ v_1 < v_2 < \dots < v_n \}$$

for which

$$u_{i}, v_{i} \in P(Y_{A_{i}}) = P(\{p_{i}^{k}q_{i}^{m} : k \in N, 1 \le m \le A_{i}\}),$$
  
$$v_{i} - u_{i} = p^{k_{i}}g^{m_{i}}, \quad u_{i}, v_{i} \text{ are disjoint, } i = 1, 2, \cdots, n$$

and

530

$$\{p^{k_j-k_i}g^{m_j-m_i}u_i, p^{k_j-k_i}g^{m_j-m_i}v_i, u_j, v_j\}$$

is a d-set for any  $1 \le i < j \le n$ .

Corollary 2.1 (see [2]) Let

$$c_1 = 48 \log_2 q, \quad c_2 = 24 \log_2 p, \quad c = c_1 c_2.$$

Then, for every n, there exists a d-set

$$D = \{x_1, y_1, x_2, y_2, \cdots, x_n, y_n\}$$

for which

$$y_1 - x_1 = y_2 - x_2 = \dots = y_n - x_n = p^{k_n} q^{2m_n}, \quad D \subseteq P(Y_{L_n})$$

where  $L_n \leq 2b_{n+1}$ . Furthermore, for k > 1, we have

$$a_k \leq \frac{1}{c_2} c^{2^{k-1}}$$
 and  $b_k \leq \frac{1}{c_1} c^{2^{k-1}}$ .

**Lemma 2.5** (see [2]) Let  $A = \{a_1 < a_2 < \cdots < a_n < \cdots\}$  be a sequence of positive integers. Assume

$$U = \{x_1, x_2, \cdots, x_k, y_1, y_2, \cdots, y_k\} \subseteq P(A),$$

where U is a d-set and for every j with  $1 \le j \le k$ ,  $y_j - x_j = d > 0$  for some fixed d. Then P(A) contains an arithmetic progression of length k + 1.

**Lemma 2.6** Let p, q, a, b be positive integers with (p,q) = 1 and let  $T = p^a$ . Let

$$R_T = \{p^r, q^s, r \in \mathbb{N}, 1 \le s \le T\}$$

Then for every r with  $1 \le r \le p^a q^b$ , there exists an  $x_r \in P(R_T)$  such that  $r \equiv x_r \pmod{p^a q^b}$ .

The conclusion of Lemma 2.6 is an application of Lemma 2.1 in [3].

**Lemma 2.7** (see [3, Lemma 2.1]) Let n be a positive integer and A be a multi-set of n integers coprime to n. Then P(A) contains every residue modulo n.

**Proof of Lemma 2.6** Assume that  $n = p^a$  and  $A = \{q, q^2, \dots, q^{p^a}\}$ . Then, by Lemma 2.7, P(A) contains every residue modulo  $p^a$ . Hence, for any integer r with  $1 \le r \le p^a q^b$ , we have

$$r \equiv \sum_{i} q^{i} \pmod{p^{a}},$$

where  $i \leq p^a$ . Then, we assume that  $r = \sum_i q^i + M p^a$ .

Since

$$M\equiv \sum_j p^{j\phi(q^b)} \pmod{q^b},$$

where  $\phi$  is the Euler's totient function, we can assume that  $M = \sum_{j} p^{j\phi(q^b)} + q^b N$ . Combining the above equalities, we have

$$r\equiv \sum_i q^i+\sum_j p^{a+j\phi(q^b)} \pmod{p^aq^b}.$$

By the definition of  $R_T$  and the fact that  $i \leq p^a$ , we know that  $\sum_i q^i + \sum_j p^{a+j\phi(q^b)} \in P(R_T)$ . This completes the proof of Lemma 2.6.

#### 3 Proof of Theorem 1.3

Let  $n = q^{2p+3}$ . By Corollary 2.1 and Lemma 2.5, there is an arithmetic progression of length n and difference  $d = p^{k_n}q^{2m_n}$ . Furthermore,  $H = \{h_0 + kd : k = 0, 1, \dots, n-1\} \subseteq P(Y_{L_n})$ , where  $L_n \leq c^{2^n}$ . If  $p^k q^s$  is a term of any element of H, then s is even and  $k_n \leq a_{n+1}$ , and  $m_n \leq b_{n+1}$ .

Let  $Y^* = dqY_{2q,2}$ . Assume that  $P(Y^*) = \{x_1 < x_2 < \cdots < x_n \cdots\}$ . Then, by Lemma 2.2, we know that the biggest gap in  $P(Y^*)$  is at most  $dq \cdot q^{2p+2}$ . If  $p^k q^s$  is a term of any element of  $Y^*$ , then s is odd. Hence,  $P(Y^*)$  and H are disjoint.

Now we will prove that  $P(Y^*) + H$  contains an infinite arithmetic progression with difference d, i.e.,  $\{x_1 + h_0 + kd : k \in \mathbb{N}_0\} \subseteq P(Y^*) + H$ . For any t, there exists an integer s, such that  $x_s \leq x_1 + td < x_{s+1}$ . Hence

$$dq \cdot q^{2p+2} > x_{s+1} - x_s > x_1 + td - x_s = \left(t - \frac{x_s - x_1}{d}\right) \cdot d.$$

Since

$$0 \le t - \frac{x_s - x_1}{d} < q^{2p+3} = n,$$

there exists an integer  $z = t - \frac{x_s - x_1}{d}$  such that  $h_0 + zd \in H$ . Hence

$$x_1 + h_0 + td = h_0 + \left(t - \frac{x_s - x_1}{d}\right) \cdot d + x_s = h_0 + zd + x_s \in H + P(Y^*).$$

Let  $a = k_n$ ,  $b = 2m_n$ . By Lemma 2.6, there exists a set  $P(R_T)$ , such that for any r with  $1 \le r \le p^{k_n} q^{2m_n}$ , there exists an  $x_r \in P(R_T)$  such that  $r \equiv x_r \pmod{p^a q^b}$ .

By the definition of  $R_T$ , we know that  $P(R_T)$ ,  $P(Y^*)$  and H are disjoint. It is easy to see that  $P(R_T) + P(Y^*) + H$  contains every sufficiently large number. So  $R_T \cup Y^* \cup Y_{L_n}$  is complete.

Now we only need to give an upper bound for K(p,q). Denote by  $K_1 = K_1(p,q)$ ,  $K_2 = K_2(p,q)$  and  $K_3 = K_3(p,q)$  the greatest s for which  $p^k q^s$  is a term of an element of  $P(Y^*)$ , H and  $P(R_T)$  respectively. Following the same discussion as in [2], we have

(1) An upper bound for  $K_1 = K_1(p,q)$ . Since  $Y^* = dqY_{2q,2}$ , we have that if  $p^k q^s \in Y^*$  then

$$K_1 \le 2m_n + 1 + 2p \le 2b_{n+1} + 2p + 1 < 3c^{2^n}.$$

(2) An upper bound for  $K_2 = K_2(p,q)$ . By Corollary 2.1,  $K_2 \leq 2b_{n+1} \leq 2c^{2^n}$ .

(3) An upper bound for  $K_3 = K_3(p,q)$ . By Lemma 2.6 and the definition of  $R_T$ , we have

$$K_3 \le p^{k_n} < p^{c^{2^n}}.$$

It is easy to find that the last upper bound is the biggest one. Hence, we have

$$K(p,q) \le p^{c^{2^n}} = p^{c^{2^{q^{2p+3}}}},$$

where  $c = 1152 \log_2 p \log_2 q$ . This completes the proof of Theorem 1.3.

**Acknowledgements** The author would like to thank her advisor Yonggao Chen for his kindly help and concern all the time. She would also like to thank the referees for many helpful comments.

## References

- [1] Birch, B. J., Note on a problem of Erdős, Proc. Cambridge Philos. Soc., 55, 1959, 370-373.
- [2] Hegyvari, N., On the completeness of an exponential type sequence, Acta Math. Hungar., 86(1-2), 2000, 127-135.
- [3] Vu, V. H., Some new results on subset sums, J. Number Theory, 124(1), 2007, 229-233.